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Slideways 5045 dimensions Wall mount possibilities
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Overlap possibilities
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Wall mount sliding door

STEP1: Measure fully finished doorway with electronic laser

Ceiling \
I
586mm | 595 mm
I
Doorway
I
I
I
Q)
£ |
£ o
€ %) ! g
S O I ~
° —i A
| o
I
I
I
I
I
Laserli |
aseriine 590 mm ! 592mm Ny o
Iy ™ I
I
£ e :
€ £ | £ £
3 8 | 3 s
3 | R R
I
Floor |
left sliding distance 592 mm 590 mm right sliding distance

Doorway height




Wall mount sliding door

STEP2: Calculate maximum rectangular surface

Ceiling ;
[
I E
Doorway 5
I :
i e
I 1
(D) I 1
c :
" — | )
— '
£ el £ 5
8 ol S :
e) —1 o 1
= v P
= | - ]
£ | € :
£ , slide left (SL) 1 _slide right (SR) . E ;
a N ]G ‘; 7 g :
N I I N 1
o | N :
3 | 5
_ L_OSﬂ!I-ﬂE ____________ 590 mm I 592mm 0 v i___
: | :
[l M I
£ I}
£ 5 £ | E £
a ] [N £ IS
3 : N I 3 @
! 8 | R R
|
Floor \. ......................... |
-~ 00— e
n
E left sliding distance I 592 mm I 590 mm right sliding distance
= _—
[
: .
3
- 1187 mm
(o))
O

The maximum rectangular
surface depends on the sliding
door direction.
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Wall mount sliding door

STEP3: Calculate the advised sliding door size.

default rail length = 1217 x 2 = 2434 mm

2355 mm(¥)

(*) You can mount the rail higher above the doorway opening,

default top rail

60 mm

rail height

by adding additional mm to the door panel height

1217 mm

Doorway

15 mm

12295 mm:
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left sliding distance

Doorway height

15 mm 0mm

We'll continue calculating a left sliding door.

The maximum rectangle is:

Height: 2295 mm
Width: 1187 mm

Calculating a left sliding door for this example:

DOOR PANEL HEIGHT =

:max. rect. height : +| rail height

- | top spacing | - | floor joint

=i2295:+|60|-|6|-|10[=]2339 mm

i max. rect. width i + | total overlap

=i1187i +|15+ 15|=]1217 mm

Wall mounted rail + top spacing:
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Ceiling mount sliding door

STEP1: Measure fully finished doorway with electronic laser
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Ceiling mount sliding door

STEP2: Calculate maximum rectangular surface
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The maximum rectangular
surface depends on the sliding
door direction.
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Ceiling mount sliding door
STEP3: Calculate the advised sliding door size.

default rail length = 1217 x 2 = 2434 mm

1217 mm

= floor joint

10 mm

69 mm

rail height

2292 mm

default top rail

12202 mm'

15 mm

Doorway

2267 mm

slide left (SL)
o

|00r15mm| H

left sliding distance

Doorway height

15 mm 0mm

We'll continue calculating a left sliding door.

The maximum rectangle is:

Height: 2292 mm
Width: 1187 mm

Calculating a left sliding door for this example:

DOOR PANEL HEIGHT =

- | top spacing | - | floor joint

=12292:-|15|-|10|=|2267 mm

i max. rect. width i + | total overlap

=11187: +[15 + 15|=[1217 mm




